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Q.3 उस िवकʙका चयन कीिजए, िजसका तीसरी संƥा से वही संबंध है, जो दूसरी संƥा का पहली संƥा
से है।

223 : 350 :: 519 : ?

Ans 1. 687

2. 654

3. 645

4. 736

Question ID : 65497843487

Status :
Not Attempted and
Marked For Review

Chosen Option : --

Q.4 एक िनिʮत कूट भाषा मŐ, 6219 का अथŊ 'Sachin is a cricketer' है और 2646 का अथŊ 'He played
from Mumbai' है। 'Mumbai is very famous' के िलए िनɻिलİखत मŐ से िकस कूट का Ůयोग िकया
जाएगा?

Ans 1. 7945

2. 2458

3. 6246

4. 6285

Question ID : 65497842268

Status : Answered

Chosen Option : 3

Q.5 एक िनिʮत कूट भाषा मŐ, 'CROWD' को 23415924 के ŝप मŐ कूटबȠ िकया गया है और 'TRHICK'
को 162491997 के ŝप मŐ कूटबȠ िकया गया है। उसी भाषा मŐ 'FRUGAL' को िकस ŝप मŐ कूटबȠ
िकया जाएगा?

Ans 1. 1226761821

2. 1521012291

3. 1512021921

4. 1221021186

Question ID : 65497843479

Status : Marked For Review

Chosen Option : 4

Q.6 मोिहत और सुदेश ने एक ही दुकान से कलमऔर कॉिपयां खरीदी।ं मोिहत ने ₹180 देकर 3 कलमऔर
6 कॉिपयां खरीदी। सुदेश ने ₹116 देकर 5 कलमऔर 2 कॉिपयां खरीदी। मोिहत ने कॉिपयां खरीदने पर
िकतने Ŝपये खचŊ िकए?

Ans 1. ₹115

2. ₹84

3. ₹122

4. ₹138

Question ID : 65497843690

Status : Answered

Chosen Option : 4
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Q.7 अिमत, गौरव, हाितम, वŜण, युİƅऔर जैद एक सीधी पंİƅ मŐ बैठे हœ, सभी उȅर िदशा की ओर
अिभमुख हœ। गौरव, अिमत के बायŐ चौथे ̾थान पर है। युİƅ एक िकनारे पर बैठी है। हाितम, युİƅ के
बायŐ चौथे ̾थान पर है। ज़ैद, गौरव के दायŐ तीसरे ̾थान पर है। जैद के बायŐ दूसरे ̾थान पर कौन बैठा है?

Ans 1. युİƅ

2. हाितम

3. अिमत

4. वŝण

Question ID : 65497843079

Status : Answered

Chosen Option : 2

Q.8 एक िनिʮत कूट भाषा मŐ CHHAPAK को DJKEUGR के ŝप मŐ कूटबȠ िकया जाता है। उसी कूट
भाषा मŐ MALANGA को िकस ŝप मŐ कूटबȠ िकया जाएगा?

Ans 1. NCOCSMC

2. NCEOSMC

3. NCOCMSC

4. NCOESMH

Question ID : 65497844600

Status : Answered

Chosen Option : 4

Q.9 िदए गए िवकʙों मŐ से वह संƥा चुिनए जो िनɻिलİखत ŵेणी मŐ Ůʲवाचक िच˥ (?) के ̾थान पर आ
सकती है।

5, 18, 70, 278, ?

Ans 1. 592

2. 328

3. 1110

4. 298

Question ID : 65497842375

Status : Answered

Chosen Option : 3

Q.10 िदए गए पैटनŊ का ȯानपूवŊक अȯयन करŐ और िदए गए िवकʙों मŐ से उस संƥा का चयन करŐ जो
उसमŐ Ůʲवाचक िच˥ (?) के ̾थान पर आ सकती है।

48 63 56
42 18 8 45 15 21 51 ? 8
14 9 17

Ans 1. 21

2. 18

3. 17

4. 19

Question ID : 65497842277

Status : Answered

Chosen Option : 1
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Q.11 गिणतीय िच˥ो ं के उस सही संयोजन का चयन करŐ िजसे नीचे िदए गए समीकरण मŐ * िच˥ो ं के ̾थान पर
Ţिमक ŝप मŐ रखने से समीकरण संतुिलत हो जाएगा।

60*48*36*6*15*53

Ans 1. ÷, +, ×, -, =

2. ×, ÷, +, -, =

3. +, ÷, -, ×, =

4. +, ÷, ×, -, =

Question ID : 65497843086

Status : Answered

Chosen Option : 4

Q.12 िदए गए िवकʙों मŐ से उस अƗर-समूह का चयन कीिजए जो िनɻिलİखत Şंखला मŐ Ůʲिच˥ (?) के
̾थान पर आ सकता है।

TSF, RPJ, PMN, NJR, ?

Ans 1. JFV

2. LGN

3. LGV

4. KGU

Question ID : 65497842363

Status : Answered

Chosen Option : 3

Q.13 िदए गए कथनो ंऔर िनʺषŘ को ȯानपूवŊक पढ़Ő। यह मानते Šए िक कथनो ं मŐ दी गई जानकारी सȑ है,
भले ही वह सामा̢य ŝप से ǒात तȚों से िभɄ Ůतीत होती हो, तय करŐ िक िदए गए िनʺषŘ मŐ से कौन
से िन̽कषŊ कथनो ं का तािकŊ क ŝप से अनुसरण करते हœ।

कथन:
सभी फूल, संुदर हœ।
वैदेही, संुदर है।

िनʺषŊ:
I. वैदेही एक फूल है।
II. कुछ संुदर, फूल हœ।

Ans 1. केवल िनʺषŊ I अनुसरण करता है।

2. केवल िनʺषŊ II अनुसरण करता है।

3. या तो िनʺषŊ I या II अनुसरण करता है।

4. दोनों िनʺषŊ अनुसरण करते हœ।

Question ID : 65497842373

Status : Answered

Chosen Option : 2
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Q.14

Ans

1. 

2. 

3. 

4. 

Question ID : 65497843497

Status : Answered

Chosen Option : 1

Q.15 यिद '@' का अथŊ 'जोड़' है, '%' का अथŊ 'गुणा' है, '$' का अथŊ 'भाग' है और '#' का अथŊ 'घटाना' है, तो
िनɻिलİखत ʩंजक का मान ǒात कीिजए।

29 @ 128 $ 16 % 7 # 22

Ans 1. 63

2. 47

3. 23

4. 58

Question ID : 65497842380

Status : Answered

Chosen Option : 1
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Q.16 वह सही िवकʙ चुनŐ जो िदए गए श̭दो ं के उस Ţम को दशाŊता है िजस Ţम मŐ वे अंŤेजी शɨकोश मŐ
मौजूद होते हœ।

1. Petitionary
2. Petitioning
3. Petition
4. Petitioners
5. Petitioned

Ans 1. 3, 1, 5, 4, 2

2. 4, 1, 2, 3, 5

3. 3, 1, 4, 5, 2

4. 1, 2, 3, 4, 5

Question ID : 65497844585

Status : Answered

Chosen Option : 1

Q.17 सलोनी, काितŊक के इकलौते बेटे की बेटी है। िनŜपमा, दीपक की मां है। यािमनी के इकलौते बेटे अंिकत
की शादी िनŜपमा से Šई है। काितŊक, दीपक के दादा हœ। काितŊक का अंिकत से ̋या संबंध है?

Ans 1. भाई

2. िपता

3. चाचा

4. बेटा

Question ID : 65497843078

Status : Answered

Chosen Option : 2

Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843492

Status : Answered

Chosen Option : 3ww
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Q.19

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842283

Status : Answered

Chosen Option : 1
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Q.20

Ans

1. 

2. 

3. 

4. 

Question ID : 65497843089

Status : Marked For Review

Chosen Option : 2

Q.21 िदए गए चार अƗर-समूहो ं मŐ से तीन िकसी न िकसी Ůकार से समान हœ और एक असंगत है। उस उस
असंगत अƗर-समूह का चयन करŐ।

Ans 1. JGT

2. SPK

3. GTQ

4. PMN

Question ID : 65497842264

Status : Answered

Chosen Option : 3
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Q.22 अƗरो ं के उस संयोजन का चयन करŐ िजसे दी गई Şंखला के įरƅ ̾थानो ं मŐ Ţिमक ŝप से रखे जाने पर
वह Şंखला को पूणŊ करेगा।

_ Z _ C _ L Z _ C _ L _ X _ V L _ _ _ V

Ans 1. L, X, V, V, X, C, C, X, Z, Z

2. L, X, V, X, V, Z, C, Z, X, C

3. X, Z, L, X, V, Z, C, C, C, L

4. L, X, C, X, V, C, Z, C, Z, C

Question ID : 65497844603

Status : Answered

Chosen Option : 2

Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843092

Status : Answered

Chosen Option : 2

Q.24 िदए गए िवकʙों मŐ से वह संƥा चुिनए जो िनɻिलİखत ŵेणी मŐ Ůʲवाचक िच˥ (?) के ̾थान पर आ
सकती है।

237, 196, 155, 114, ?

Ans 1. 98

2. 73

3. 47

4. 64

Question ID : 65497842273

Status : Answered

Chosen Option : 2

Q.25 उस िवकʙका चयन करŐ जो तीसरे पद से उसी Ůकार संबंिधत है िजस Ůकार दूसरा पद पहले पद से
संबंिधत है।

BACTERIA : EXFWBUFX :: WOUNDS : ?

Ans 1. YLRQFV

2. ZLSQFW

3. ZRXQGV

4. ZLRQGV

Question ID : 65497843679

Status : Answered

Chosen Option : 4
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Q.1 'लॉटरी रेगुलेशन एƃ' िकस वषŊ पाįरत िकया गया था?
Ans 1. 1999

2. 1991

3. 1993

4. 1998

Question ID : 65497843116

Status : Answered

Chosen Option : 3

Q.2 भारत के रा Ō̓ ीय िचɎ को िकस िदन अपनाया गया था?
Ans 1. 15 अगˑ 1947

2. 26 जनवरी 1950

3. 15 अगˑ 1952

4. 26 जनवरी 1959

Question ID : 65497842309

Status : Answered

Chosen Option : 2

Q.3 'įरंग ऑफ फायर' को आप िनɻिलİखत मŐ से िकस महासागर से संबȠ करŐ गे?

Ans 1. अटलांिटक

2. आकŊ िटक

3. िहंद

4. Ůशांत

Question ID : 65497842300

Status : Answered

Chosen Option : 1

Q.4 रामसर कɋŐशन के अनुसार, िनɻिलİखत मŐ से कौन सा िवʷ आūŊभूिम िदवस है?

Ans 1. 19 िदसंबर

2. 18 माचŊ

3. 15 जनवरी

4. 2 फरवरी

Question ID : 65497843711

Status : Answered

Chosen Option : 4

Section : General Awareness
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Q.5 िनɻिलİखत मŐ से िकस राजपूत शासक ने 1191 ई. मŐ तराइन के Ůथम युȠ मŐ मुहʃद गोरी को हराया
था?

Ans 1. मालदेव राठौर

2. बɔा रावल

3. राणा कंुभा

4. पृțीराज चौहान

Question ID : 65497843515

Status : Answered

Chosen Option : 4

Q.6 िनकोबार Ȫीप समूह की जनजाितयां ______ के दौरान पįरवार के मुİखया की िदवंगत आȏा को
ŵȠांजिल अिपŊत करती हœ।

Ans 1. गंजन महोȖव (Ganjan Festival)

2. जगȠाũी पूजा (Jagaddhatri Puja)

3. कʙतŜ उȖव (Kalpataru Utsav)

4. ऑˢरी उȖव (Ossuary Feast)

Question ID : 65497842389

Status : Not Answered

Chosen Option : --

Q.7 भारतीय संिवधान के िनɻिलİखत मŐ से िकस संशोधन के Ȫारा अनुǅेद 51-A के तहत एक नया मौिलक
कतŊʩ जोड़ा गया?

Ans 1. िछयासीवŐ संशोधन अिधिनयम, 2002

2. सतासीवŐ संशोधन अिधिनयम, 2003

3. पचासीवŐ संशोधन अिधिनयम, 2001

4. अǧासीवŐ संशोधन अिधिनयम, 2003

Question ID : 65497843519

Status : Answered

Chosen Option : 4

Q.8 िनɻिलİखत मŐ से कौन-सा भारत मŐ एक अŮȑƗ कर है?

Ans 1. पंूजी लाभ कर

2. वˑु एवं सेवा कर

3. िनगम कर

4. आयकर

Question ID : 65497843501

Status : Answered

Chosen Option : 2
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Q.9 िनɻिलİखत मŐ से िकस राǛ/कŐ ū शािसत Ůदेश मŐ माचŊ-अŮैल 2021 के दौरान चुनाव नही ं Šआ था?
Ans 1. पुदुचेरी

2. पिʮम बंगाल

3. तिमलनाडु

4. िबहार

Question ID : 65497843720

Status : Answered

Chosen Option : 4

Q.10 पृțी पर काबŊन डाइऑƛाइड का कम से कम ______ İ̾थरीकरण शैवालो ं Ȫारा Ůकाश संʶेषण के
माȯम से िकया जाता है।

Ans 1. आधा

2. एक ितहाई

3. दसवां िहˣा

4. एक चौथाई

Question ID : 65497843506

Status : Answered

Chosen Option : 2

Q.11 ______ Ůदूषण की कोिट या तीŴता को कम कर रहा है, या समाɑ कर रहा है।
Ans 1. वितलयन (Aerosol)

2. अवशोषण (Absorption)

3. वातन (Aeration)

4. उपशमन (Abatement)

Question ID : 65497843104

Status : Answered

Chosen Option : 3

Q.12 पूवŊ ˙ेिनश फुटबॉलर, एंटोिनयो लोपेज हबास, हीरो आईएसएल 2020-21 मŐ िनɻिलİखत मŐ से िकस
फुटबॉल टीम के कोच थे?

Ans 1. केरल ɰाːसŊ

2. एफसी गोवा

3. एटीके मोहन बागान

4. एससी पूवŎ बंगाल

Question ID : 65497843725

Status : Not Answered

Chosen Option : --
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Q.13 ______ Ůाचीन भारत का एक महȕपूणŊ बंदरगाह शहर था।
Ans 1. अिहǅũ

2. चंपा

3. ताŲिलɑ

4. ŵावˑी

Question ID : 65497842403

Status : Answered

Chosen Option : 3

Q.14 कŐ ūीय बजट 2021-22 मŐ िपछले वषŊ की तुलना मŐ ˢा˖और कʞाण के िलए आवंटन मŐ ______ की
वृİȠ की गई थी।

Ans 1.  140%

2.  125%

3.  137%

4.  100%

Question ID : 65497843099

Status : Answered

Chosen Option : 4

Q.15 िनɻिलİखत मŐ से िकसे 'ʷेत पवŊत (White Mountain)' के नाम से भी जाना जाता है?

Ans 1. चो ओयू (Cho Oyu)

2. मकालु (Makalu)

3. ʥोȖे (Lhotse)

4. धौलािगरी (DhaulagiriI)

Question ID : 65497842400

Status : Answered

Chosen Option : 3

Q.16 िŰिटश ईː इंिडया कंपनी ने वषŊ ______ मŐ ůांसीिसयो ं से पांिडचेरी (पुदुचेरी) को छीन कर उस पर
कɥा कर िलया।

Ans 1. 1699

2. 1738

3. 1674

4. 1761

Question ID : 65497842301

Status : Answered

Chosen Option : 4
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Q.17 पौधो ं का संƥाȏक वगŎकरण िनɻिलİखत मŐ से िकस पर आधाįरत है?

Ans 1. संरचना

2. िदखने योƶ सभी िवशेषताओं

3. गुणसूũ संƥा

4. रासायिनक घटक

Question ID : 65497843709

Status : Answered

Chosen Option : 4

Q.18 िनɻिलİखत मŐ से िकस टीम ने इंिडयन सुपर लीग 2020-21 जीती थी?
Ans 1. मंुबई िसटी एफसी

2. नॉथŊईː यूनाइटेड एफसी

3. एटीके मोहन बागान

4. केरला ɰाːसŊ एफसी

Question ID : 65497842411

Status : Answered

Chosen Option : 1

Q.19 'घटम (Ghatam)' एक ______ है।
Ans 1. बड़े आकार वाला, संकीणŊ मंुह का िमǥी का बतŊन, िजसका उपयोग तबले के ŝप मŐ िकया जाता है

2. हाथ मŐ लेकर बजाया जाने वाला डŌ म जो एक तंबूरे जैसा िदखता है

3. लकड़ी और धातु से बना सुिषर वाȨ

4. चमड़े और कटहल की लकड़ी से बना तबला

Question ID : 65497842287

Status : Answered

Chosen Option : 1

Q.20 िनɻिलİखत मŐ से कौन सा/से कथन सही है/हœ?

I. सकल घरेलू उȋाद (GDP) का आकलन करते समय केवल िवपणन की गई वˑुओं पर िवचार िकया
जाता है।
II. एक मिहला Ȫारा अपने घर पर िकया गया कायŊ सकल घरेलू उȋाद के दायरे से बाहर है।
III.सकल घरेलू उȋाद का अनुमान लगाने मŐ, केवल अंितम वˑुओंऔर सेवाओं पर िवचार िकया जाता
है।

Ans 1. I, II और III

2. केवल II और III

3. केवल I और III

4. केवल II

Question ID : 65497843704

Status : Answered

Chosen Option : 3
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Q.21 िनɻिलİखत मŐ से कौन 'द सीŢेट ऑफ द वेद (The Secret of the Veda)' पुˑक के लेखक हœ?
Ans 1. जे कृˁमूितŊ

2. ˢामी िववेकानंद

3. एनी बेसŐट

4. ŵी अरिबंदो

Question ID : 65497843517

Status : Answered

Chosen Option : 2

Q.22 िनɻिलİखत मŐ से कौन माचŊ 2021 मŐ उȅराखंड के मुƥमंũी बने?

Ans 1. बीसी खंडूरी

2. मदन कौिशक

3. तीरथ िसंह रावत

4. धन िसंह रावत

Question ID : 65497843112

Status : Answered

Chosen Option : 3

Q.23 हाइडŌ ोफाइट्स (hydrophytes) मŐ, पाए जाने वाले िवशेषीकृत ______ ɊूमेटोफोसŊ
(Pneumatophores) कहलाते हœ।

Ans 1. मूल

2. पु˃

3. बीज

4. फल

Question ID : 65497842293

Status : Answered

Chosen Option : 3

Q.24 अंतराŊ Ō̓ ीय मातृ पृțी िदवस, 2021 (Mother Earth Day, 2021) की थीम '______' थी।
Ans 1. इंड ɘाİːक प̵यूशन (End Plastic Pollution)

2. Ůोटे̋ट ऑर ̾पेसीज़ (Protect our Species)

3. ̋लाइमेट ए̋शन (Climate Action)

4. įर̾टोर ऑर अथŊ (Restore our Earth)

Question ID : 65497842393

Status : Answered

Chosen Option : 1

Q.25 िनɻिलİखत मŐ से िकस िदन को 'िवʷ जल िदवस' के ŝप मŐ मनाया जाता है?

Ans 1. 29 माचŊ

2. 5 अŮैल

3. 18 फ़रवरी

4. 22 माचŊ

Question ID : 65497843106

Status : Answered

Chosen Option : 4
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Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843123

Status : Answered

Chosen Option : 3

Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843531

Status : Answered

Chosen Option : 4

Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842326

Status : Marked For Review

Chosen Option : 3

Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843727

Status : Answered

Chosen Option : 4

Section : Quantitative Aptitude
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Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843748

Status : Answered

Chosen Option : 1

Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843345

Status : Answered

Chosen Option : 4
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Q.7

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842418

Status : Answered

Chosen Option : 1

Q.8

Ans

1. 

2. 

3. 

4. 

Question ID : 65497843728

Status :
Not Attempted and
Marked For Review

Chosen Option : --

Q.9

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843540

Status : Answered

Chosen Option : 1
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Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843137

Status : Answered

Chosen Option : 2

Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842428

Status : Answered

Chosen Option : 4

Q.12

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843534

Status : Answered

Chosen Option : 2

Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843126

Status : Answered

Chosen Option : 1
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Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842840

Status : Answered

Chosen Option : 4

Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843537

Status : Answered

Chosen Option : 4

Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843139

Status : Answered

Chosen Option : 2
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Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843129

Status : Answered

Chosen Option : 1

Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843746

Status : Answered

Chosen Option : 4

Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843225

Status : Answered

Chosen Option : 1

Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843131

Status : Answered

Chosen Option : 4
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Q.21

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842336

Status : Answered

Chosen Option : 2

Q.22

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842413

Status : Answered

Chosen Option : 4

Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843542

Status : Answered

Chosen Option : 2
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Q.24

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843132

Status : Answered

Chosen Option : 2

Q.25

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842320

Status : Answered

Chosen Option : 1

Q.1 Select the option that expresses the given sentence in direct speech.

He asked me when I had booked the flight tickets.

Ans 1. He said to me, “When did you book the flight tickets?”

2. He said to me, “When do you book the flight tickets?”

3. He said to me, “When are you booking the flight tickets?”

4. He said to me, “When you had book the flight tickets?”

Question ID : 65497842349

Status : Answered

Chosen Option : 1

Q.2 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Every / curious child / want to / rip open a toy.

Ans 1. rip open a toy

2. curious child

3. Every

4. want to

Question ID : 65497843751

Status : Answered

Chosen Option : 4

Section : English Comprehension
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Q.3 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

It was / the very well-directed film / and we enjoyed it.

Ans 1. and we enjoyed it

2. the very well-directed film

3. No error

4. It was

Question ID : 65497843551

Status : Answered

Chosen Option : 2

Q.4 Select the option that expresses the given sentence in active voice.

All weapons were surrendered by them.

Ans 1. They had surrendered all weapons. 

2. They have surrendered all weapons. 

3. They are surrendering all weapons. 

4. They surrendered all weapons. 

Question ID : 65497843554

Status : Answered

Chosen Option : 4

Q.5 Select the option that expresses the given sentence in passive voice.

She handles all tasks efficiently.

Ans 1. All tasks were handled efficiently by her.

2. All tasks are being handled efficiently by her.

3. All tasks have been handled efficiently by her.

4. All tasks are handled efficiently by her.

Question ID : 65497843755

Status : Answered

Chosen Option : 4

Q.6 Select the most appropriate meaning of the given idiom.

In the same breath

Ans 1. Try and hold your breath

2. Practice breathing exercises

3. Say two contradictory things at the same time

4. Able to get a foul smell

Question ID : 65497842358

Status : Answered

Chosen Option : 4
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Q.7 Select the most appropriate synonym of the given word.

Avert

Ans 1.  Prevent

2.  Confront

3.  Face

4.  Permit

Question ID : 65497843566

Status : Answered

Chosen Option : 1

Q.8 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required.’

A tigress has given birth to a cub in the Ranthambore Tiger Reserve, taking the big
cat population to 78.

Ans 1. was birthed

2. no substitution required

3. is given births

4. has give birth

Question ID : 65497843765

Status : Answered

Chosen Option : 2

Q.9 Select the most appropriate synonym of the given word.

ostentatious

Ans 1. showy

2. tasteful

3. sudden

4. quick

Question ID : 65497843767

Status : Answered

Chosen Option : 1

Q.10 Select the most appropriate meaning of the given idiom.

Be hard up

Ans 1. Find it very difficult to wake up early

2. Have very little money

3. Unable to calculate

4. Have difficulty in climbing stairs

Question ID : 65497842458

Status : Answered

Chosen Option : 2
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Q.11 Select the most appropriate ANTONYM of the given word.

Modest

Ans 1. Conceited

2. Glum

3. Unhappy

4. Sullen

Question ID : 65497842356

Status : Answered

Chosen Option : 1

Q.12 The following sentence has been split into segments. One of them may contain an
error. Identify the segment that contains a grammatical error. If you don’t find any
error, mark ‘No error’ as your answer.

No one were / present when I / entered the hall.

Ans 1. No one were

2. No error

3. entered the hall

4. present when I

Question ID : 65497842236

Status : Answered

Chosen Option : 1

Q.13 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The authorities are assured the people that they will look into the matter.

Ans 1.  No substitution required

2.  have been assured

3.  have assured

4.  has assured

Question ID : 65497842451

Status : Answered

Chosen Option : 3

Q.14 Select the option that can be used as a one-word substitute for the given group of
words.

The study of earthquakes

Ans 1. Seismology

2. Geography

3. Topography

4. Geology

Question ID : 65497843571

Status : Answered

Chosen Option : 1
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Q.15 Select the most appropriate ANTONYM of the given word.

Raze

Ans 1. Comfort

2. Ruin

3. Ease

4. Build

Question ID : 65497842456

Status : Answered

Chosen Option : 4

Q.16 Select the most appropriate synonym of the given word.

Retaliate

Ans 1. Facilitate

2. react

3. Rotate

4. Clap

Question ID : 65497843766

Status : Answered

Chosen Option : 2

Q.17 Select the option that can be used as a one-word substitute for the given group of
words.

To walk aimlessly

Ans 1. Slither

2. Amble

3. Crawl

4. Sprint

Question ID : 65497843168

Status : Answered

Chosen Option : 1

Q.18 Select the INCORRECTLY spelt word.

Ans 1. Tution

2. Manners

3. Circuit

4. Genuine

Question ID : 65497843573

Status : Answered

Chosen Option : 2
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Q.19 The following sentence has been divided into parts. One of them may contain a
grammatical error. Select the part that contains the error from the given options. If you
don’t find any error, mark ‘No error’ as your answer.

If the economy fails / this year it reflect badly / on the government.

Ans 1. on the government

2. this year it reflect badly

3. No error

4. If the economy fails

Question ID : 65497842340

Status : Answered

Chosen Option : 2

Q.20 Select the most appropriate option to fill in the blank.

The increasing concerns about climate change point to the need for enhanced efforts
towards ______ sustained growth.

Ans 1. achieved

2. achieve

3. achieving

4. to achieve

Question ID : 65497843170

Status : Answered

Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The rise in the Irrawaddy dolphin (1) ______ in Chilika can be attributed to the eviction of (2)
______ fish enclosures. After thousands of hectares of Chilika lake were made (3) ______
free, Irrawaddy dolphins found unobstructed area for movement. (4) ______, due to the
COVID-19 lockdown last year, there were comparatively fewer tourist boats on Chilika lake,
which made it (5) ______ for dolphins to move from one part of the lake to another.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank no.1.

Ans 1. natives

2. inhabitants

3. population

4. clan

Question ID : 65497843152

Status : Answered

Chosen Option : 3
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The rise in the Irrawaddy dolphin (1) ______ in Chilika can be attributed to the eviction of (2)
______ fish enclosures. After thousands of hectares of Chilika lake were made (3) ______
free, Irrawaddy dolphins found unobstructed area for movement. (4) ______, due to the
COVID-19 lockdown last year, there were comparatively fewer tourist boats on Chilika lake,
which made it (5) ______ for dolphins to move from one part of the lake to another.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank no.2.

Ans 1. unwarranted

2. illegitimate

3. unconstitutional

4. illegal

Question ID : 65497843153

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The rise in the Irrawaddy dolphin (1) ______ in Chilika can be attributed to the eviction of (2)
______ fish enclosures. After thousands of hectares of Chilika lake were made (3) ______
free, Irrawaddy dolphins found unobstructed area for movement. (4) ______, due to the
COVID-19 lockdown last year, there were comparatively fewer tourist boats on Chilika lake,
which made it (5) ______ for dolphins to move from one part of the lake to another.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank no.3.

Ans 1. confiscation

2. encroachment

3. intervention

4. trespass

Question ID : 65497843154

Status : Answered

Chosen Option : 2
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The rise in the Irrawaddy dolphin (1) ______ in Chilika can be attributed to the eviction of (2)
______ fish enclosures. After thousands of hectares of Chilika lake were made (3) ______
free, Irrawaddy dolphins found unobstructed area for movement. (4) ______, due to the
COVID-19 lockdown last year, there were comparatively fewer tourist boats on Chilika lake,
which made it (5) ______ for dolphins to move from one part of the lake to another.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank no.4.

Ans 1. Nevertheless

2. Moreover

3. However

4. Whereas

Question ID : 65497843155

Status : Answered

Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The rise in the Irrawaddy dolphin (1) ______ in Chilika can be attributed to the eviction of (2)
______ fish enclosures. After thousands of hectares of Chilika lake were made (3) ______
free, Irrawaddy dolphins found unobstructed area for movement. (4) ______, due to the
COVID-19 lockdown last year, there were comparatively fewer tourist boats on Chilika lake,
which made it (5) ______ for dolphins to move from one part of the lake to another.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no.5.

Ans 1. conducive

2. disturbing

3. detrimental

4. hurtful

Question ID : 65497843156

Status : Answered

Chosen Option : 1
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